responcied to
your previous

Solve this question:

A company made a profit of
£93865 in one year.
What is this figure to the
nearest £10, £100,
£10,000?




Brainwarmer

1) 28567 + 320
2) 89650 + 2500
3) 79326 + 3700
4) 49655 + 7500
5) 44821 + 1300

1) 13555 + 400
2) 32456 + 200
3) 34500 + 100
4) 34589 + 300
5) 60871 + 500
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In the garden there is space
for 14 rows of 3 seeds in a
flower bed. How many seeds
in a flower bed?



There are 26 rows of 13
stickers on a sheet. How many
stickers are there on a sheet?

How many on 10 sheets?



Apples are sold in packs of 7.
The supermarket has 345
packs to sell. How many
apples is this altogether?



There are 18 biscuits in a
packet. A box contains 45
packets of biscuits. A lorry
delivers 22 boxes of biscuits
to a supermarket. How many
biscuits are delivered to the
supermarket?



Break

what have you learnt so far...



start task




How do I solve multiplication word problems?

_ Harder Hardest

Solve 1 step/2

Solve 1 step
problems solving SOIET : s1'e|:|> : step problems
TOx 0 priobjems -solving solving HTO x

Herculean: Solve 2 step word problems — involving decimal

numbers




If 4560 is the answer — what’s the
guestion?

Challenge!

Can you create your own word
problem?

e 2

Solve this! 'ﬁl :
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